Nudmeros comple jos:

Forma binomica = a+ bi b
Forma cartesiana o puntual: (a,b)

m= va® + b? 2

Expresion > {Forma polar = m, = b

Tg(x:g

Forma trigonometrica = m [cosa +i sena]

Forma exponencial = m e

conjugado = a-bi

. . 1
a + bi = J{inverso> ——
a + bi

opuesto = -a - bi

i=-1

Potencias de i =

Suma= [a+bi]+[c+di|=[a+c]+[b+d]i
Resta= [a+bi]-[c+di]=[a-c]+[b-d]i

Forma binomica = [a +bi] [c +di] = [ac - bd] + i [bc + da]
Producto =
Forma polar = [a+bi] [c+di] = m, ry = [mr]

o+p
a+ bi_ a+ bic-di
c+di c+dic-di

a+bi m, m
Forma polar = - = —— =
c+ ap

Forma binomica =

Operaciones = | Cociente =

Potencia = [a + bi]" = [ma]n = [m"]m

grados = Ya+ bi = ym, = [Q/H]owséok > k=0,1,2,..n-1
n

Raiz =

radianes = Ya+ bi = ym, = [%]mznk - k=0,1,2,..n-1
n



